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[Geal/M] [Geall ] [Mcal/h]
1 457 2,084 273 18 84 11 2,857 10,440 1,275
2 684 1,672 248 30 69 10 3,459 8,570 1,209
3 436 1,485 287 20 60 11 2,813 6,242 1,350
4 963 287 264 45 13 11 5,471 2,266 1,309
5 2,719 0 272 109 0 11 12,355 0 1,293
6 4,469 0 237 191 0 10 19,004 0 1,150
7 6,894 0 252 249 0 10 23,272 0 1,182
8 7,595 0 224 280 0 9 26,756 0 981
9 5,645 0 212 224 0 8 21,758 0 999
10 2,525 0 237 101 0 9 12,017 0 1,073
11 966 218 239 37 9 9 4,904 1,551 1,149
12 743 777 286 34 28 10 4,084 3,596 1,224
34,096 6,523 3,031 1,339 266 118 138,751 32,666 14,194
[Geal/M] [Geall ] [Mcal/h]
1 228 4,168 547 9 168 21 1,429 20,881 2,549
2 342 3,343 496 15 139 21 1,730 17,141 2,418
3 218 2,971 574 10 121 22 1,407 12,484 2,700
4 481 574 529 23 26 22 2,735 4,533 2,617
5 1,360 0 545 55 1 21 6,177 0 2,586
6 2,234 0 473 96 1 20 9,502 0 2,300
7 3,447 0 504 125 1 19 11,636 0 2,364
8 3,798 0 447 140 1 17 13,378 0 1,962
9 2,823 0 424 112 1 17 10,879 0 1,997
10 1,262 0 474 50 0 18 6,009 0 2,147
11 483 436 477 18 18 19 2,452 3,102 2,298
12 372 1,554 572 17 56 21 2,042 7,192 2,449
17,048 13,047 6,063 669 532 237 69,375 65,332 28,387
[Geal/M] [Geall ] [Mcal/h]
1 349 4,609 1,829 14 158 60 1,909 12,312 4,096
2 406 3,912 1,650 18 146 60 2,025 10,896 4,072
3 615 3,124 1,774 23 105 58 2,492 7,022 4,044
4 1,614 1,335 1,623 60 46 55 6,123 3,341 3,834
5 3,934 196 1,591 161 7 56 12,607 708 3,923
6 6,117 0 1,515 226 0 52 18,439 0 4,066
7 9,406 0 1,418 318 0 47 25,918 0 3,474
8 10,470 0 1,387 357 0 46 28,782 0 3,531
9 7,414 0 1,491 267 0 56 22,391 0 3,718
10 3,626 0 1,425 123 0 48 10,840 0 3,547
11 1,256 1,265 1,599 45 45 54 4,894 3,074 3,720
12 492 3,814 1,789 22 125 58 2,577 8,091 3,952
45,699 18,255 19,091 1,634 633 650 138,997 45,444 45,977
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